Templeton High School: Algebra I: Semester 1 Final REVIEW Name: Ke >/

1. Evaluate:
2x* +3x~18when x =4

2012+ 34) ~1§
201e) +304) -1#
32 + | -|f
44 -18

2. Simplify
4n+203n—-7)-8+n

Yo +bn-1-8+n

3. Find the solution set for

1w
8x—3=2(x—5)

gx-34 2x - |

4. Sam spent $16 on bowling. This
included $2 charge for renting
shoes and a $3.50 per game
bowled. Write and solve the
equation to find the number of
games g that Sam bowled?

b= 3.50 4‘.1‘
[io= 3.50 +2]

-2 -2

_Ll-_/_s 3.501
3,50 3,50

J? 4 games

5. Solve q=%(s+l‘)——k fort

He +iC
,2:& FKE 02:-
r Cq ):"'z:(SH:) r

6. Which number is a solution of the
inequality: x+8<-5

-8 -§
A. -13 “)’(’::3"
#s less than -13
C. -3
D. 3
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7. Solve and graph

8. It costs $7 to make a charm necklace with

—15+3a<-9 up to 5 charms and $1.50 for each
+I5 HS additional charm. Kimberly has a budget
of $16 maximum set aside for her

2a < b necklace. Write and Solve an inequality

—_— for the number of additional charms that

3 3 Kimberly can have added to her necklace.

a=Z [lo 2 1.soc +7/
~17 -7 -
&~ ——F—t——1 >
0 1 2 3 4 12150 b2e
I.s \ 150
3
9. Convert (/J_c; to rational exponent 10. Simplify the expression 16%.
form.
yr 3
o (e
B. 12
D. 64
?
D. x?

11. Subtract: (~8h2 - 5h + 8) - (9h2 - 8h + 12)
~Fh* Sh+§  “ovesie
+ ~9h? +§h -I2

/;./’]hz +3h—Y

12. Multiply: (3n-8)(n+1)




Templeton High School: Algebra I: Semester 1 Final REVIEW

13. What is the simplified form of

2

(27°)?
(o)’
(54"

232

/%’7

Name:
14. Solve the inequality: ax>b d JWM-Z
forx, givena<0. g by a
Vi d... 3ﬂ
§ e Hu,s‘:o ’
n
A x>b—d 7‘ﬂ a X(M 3
a a
b—-d
x<
a
C. x>a(b-d)
D x<a(b d)

15. Which statement is equivalent to

the inequality |x—3|>8? 5 \fé

X-378 o
X~34-§

A x-3>8o0orx-3<8

x—3>8 or x-3<-8

,(”/x—3>8 and x-3<8

/D./x—3>8and x-3<-8

16. What are the solutions of x2 - 16 = 6x?

~x -bx
M 2_px—16=0
Xz X-o
b (x-§)(x+2)=0
X= ?Mé('z

17. Which of the following does NOT have a
factor of (x + 3)?

A, 2x3+6x2+7x+21 /lz'x f7)[x—l—3)

'%@ 2 +x-12 (K 4"{)()("3)
@xz o (x¢3)(x~3)
D. ¥ +x-6 ()(“‘3)()(’2)

cb
3><2.
|

ax®(x+3)¥1(x3

18. Which expression is NOT equivalent to the
polynomial 54x3 + 81x2 - 15x?

3x(9x+ 1)(2x-5) X 227 - 90

B 3x(18x2+27x-5) 30 (-3

2
(x+30)Xx-3)
P 3(18x¢ +27x2 - 5x) AT

& 3x(6x-1)(3x +5)

(x+8)(bx-)

BX(I8x* 27X~ S) /ﬁ?(w‘) |
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19. The amount of paint needed to cover a wall
is proportional to its area. The wall is
rectangular and has an area of (2b3 - 72b)
square meters. Factor the polynomial to
find possible expressions for the length and
the width of the wall. (Assume the factors
are polynomials and factor completely).

2b%-72b
2b(b*- 36)
2b (b+6)b-56)
2blb+6) X (b-6)

i

20. How many real solutions does the equation
6(x + 3)2+ 2 = 2 have?
“l-2
b(X+3)*=0
- :
A. No Solution

C. Two Solutions

D. Three Solutions

tF J_ = 2 Solwhin
M:J??‘ = Mo Jolubo

AY

21. Which of the following real numbers are
solutions of:
-7<x<5

A 5

3

@ 1
5o

22. Which of the following equations have a

solution of: x=2 2x-1= 1 -2z 2[)(«3)
Wo-ren —EL |z ax-b
2X 28 | 4y ke

te 79
‘i?@f

2 2
'x;Z/

\ z-3X -3y
3\l

)(2 20x— 3)+2
~3X+||f

5=-3(x+1)+14 g,‘?.x"l
=l

23. The area of a rectangle is x* +8x+12 feet?
which of the following are possible dimensions

of the length and width? 6|>Zz (X+ ‘Xx_‘
§

When x = 4 the dimensions are 10ft x 6ft
(H+e)(H+2

. When x = 2 the dimensions are 12ft x 4ft
(2+6) (2+2)

X/When x=1the dlmessmns are 2ft x 6ft

(1+6)(1+2)

When x = 10 the dimensions arel6ft x 12ft

Ll0+4)00+2)

U 4 |

2 Xz
24. Which of the followAng €xpressions simplify J,
to be 3x4?

IR 5 5]
B - 3x! x=2y
ey X X!
X[le‘sj 3x¥" 3
O o,

4x _L‘Z‘._)Si = B“Xy

(=)

Y4 X
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25. Which of the following four rectangles have a perimeter of 4x” +14x—8

_ 3x%+2x-5

%2+ 5x+1
2(3x*42%-S) = bx*+4x 10
2(,xz+5‘x+|> = -:Lx"+lox+2_‘

Yy*+1Yx ~§ v
X2+ 8x-7
X2~-x+3

2(x*+8x67) = AX*+|oxl
2(x*-x+3)> X -AX*+E

U t1Yx ~§V

W

2X2+ 7%~ 2

-2X -4

2(axix-2) = YxPelix-4
2(-2x-4) = _ -'#-8
T *+0x-12

5x2+9x - 4

-2%2% - 2%

2(SX*E9x~Y) = Jox*+I8X -8
2 (-ax*-2x) = -4’ ~4x

‘—____________,_,—‘

bx“HYx-§
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Free Response

***You will be asked to answer 4 of the following 11 questions on your Final.¥**

1. Describe how you would interpret a verbal description into a variable expression/equation.

2. Using what you've learned, solve :21- (4x — 8) = —2x, and justify the reasoning of your steps.

3. Explain the significance of units, including all the ways they are applied.
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4. Inwhat ways are equations and inequalities similar and in what ways are they different?

5. What is absolute value? Why is solving an absolute value equation/inequality treated
differently than solving a regular equation/inequality?

6. Create a real-world model for an “and” compound inequality and an “or” compound inequality.

7. Explain in your own words under what conditions the value of exponents change. When do
exponents not change? Create some examples to justify your statements.
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8. What are rational and irrational numbers? How are radicals related to rational exponents?

9. Describe your favorite way to solve a quadratic equation. Can it be used for any quadratic
equation? If not, how would you solve the quadratic equation?

10. What do you think is the significance of setting a quadratic equation equal to zero?

11. Given any factorable quadratic expression, in your own words explain how the values of a, b,
and c affect your factoring process.




